河南理工大学2008级研究生入学分班考试样题 
第一部分：词汇 主要考查学生对教学大纲内所规定的词汇和短语的认知和运用能力。该部分共20题，每题1分。考试时间约20分钟。每题为一个英文句子，要求考生从所给的4个选项中选出最佳答案填入给定的句子中，使其结构完整，意思通顺。

Part I Vocabulary (20 minutes, 20 points)
Directions: In each question, decide which of the four choices given will most suitably complete the sentence if inserted at the place marked. Mark out your choice on the ANSWER SHEET with a single line through the center.
The Prime Minister was followed by five or six _______ when he got off the plane. 
　　A) laymen　　　　　　　　　　　　　　　　C) directors 
　　B) servants　　　　　　　　　　　　　　　　D) attendants
第二部分：阅读理解 主要考查学生通过阅读获取信息的能力，该部分共30题，每题2分，考试时间为80分钟。要求学生阅读6篇（总长度为2000词左右）文章，每篇文章后有5个问题，要求考生根据文章内容从每题所给出的四个选项中选出一个最佳答案。 
阅读理解部分选材的原则是：

1． 题材广泛，以科技内容为主，包括社会、经济、文化、法律、管理等方面内容；

2． 试题设计有涉及客观事实的细节题和归纳、判断推理题。

Part II Reading Comprehension (80 minutes, 60 Points)
Directions: There are 6 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. You should decide on the best choice and mark the corresponding letter on the ANSWER SHEET with a single line through the center.
Low speed bicycle crashes can badly injure——or even kill——children if they fall onto the

ends of the handlebars(车把)．So a team of engineers is redesigning it to make it safer

  Kristy Arbogast，a bioengineer at the Children’s Hospital of Philadelphia in Pennsylvania，

began the project with her colleagues．The cases they reviewed about serious abdominal(腹部的)

injuries in children in the past 30 years showed that more than a third were caused by bicycle

accidents．”The task was to identify how the injuries occurred and come up with seinecountermeasures，”she says

The engineers are trying to improve the handlebars because

  A they are not beautiful

  B they may kill children
  C they are likely to crash．

  D they affect the speed of the bike

第三部分：完型选择填空 主要考查学生在语篇层次上的理解和运用能力以及对词汇表达方式和结构掌握的熟练程度。该部分共20题，每题0.5分，考试时间约10分钟，要求考生就所给篇章中20处空白所需的词或短语分别从四个选项中选出最佳答案。
Part Ⅲ Cloze（10 minutes, 10 points）

On the average，Americans waste as much energy as two—thirds of the world’s population

consumes That’s largely the         (51)of driving inefficient Cars，using inefficient

appliances(设备)，and living and working in poorly insulated(隔热)buildings．Then what can

you do to           (52)the situation?    

51 A power        B result        C way        D work
52 A improve       B create       C face        D explain
Part Ⅳ Error Detection (10 minutes,10 points)
 Directions: Each of the following sentences has four underlined parts. These parts are labeled A, B, C, and D. Identify the part of the sentence that is incorrect and mark out your choice on the ANSWER SHEET. Then, without altering the meaning of the sentence, write down your correction on the line on the ANSWER SHEET.
试卷四个部分的题数、计分和考试时间分配表
	卷别
	序号
	题号
	题型名称
	题数
	计分
	考试时间

	试卷一
	Part I
	1-20
	词汇
	20
	20
	20

	
	Part II
	21-50
	阅读理解
	60
	60
	80

	
	Part III
	51-70
	完型填空
	20
	10
	10

	
	Part IV
	71-80
	改错
	10
	10
	10

	
	
	
	
	
	
	

	合计
	
	80
	100
	120
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